[$'1°9] zorunus po

OAISS800NS 01Z1018S8,||8U 0MOodLI 8W09 BeZZI|in 819sse ejod 8yo BWISSEW elieizueul) B)ijigiuodsIp | OUOOSIN}IISOD BUUO|OD B|jaU 8)3110s awwos a7 (1)

vYd3d4401vIoN1
V'O'S 3H0L1L3dId I eleq
00°0 877°09G"| 87°99G"| vo'vv.LC 00°0 00°CLL'E 00°ZLL'€ 79'916°G 00°0 79'916°G opoboud asads ajejoy
00°0 00°0.S 00°0LS 0.°6v8°1 00°0 00°0 00°0 0.°6v8°L 00°000°€- 0.°6v8'% ainyezzaue pa fuedwi - o)
00°0 00°0.S 00°0LS 0.°6v8°1 00°0 00°0 00°0 0.°6v8°1 00°000°€- 0,°6v8'% liqow luag|( €0
00°0 00°0.LS 00°0LS 0.'6V8°L 00°0 00°0 00°0 0.'6V8°L 00°000°€- 0.'6V8V ojuswisaAulp luag 90
00°0 ov‘szl 0v‘Gzl V6 V61 00°0 00°2.S 00°2.S ¥6°990°L 00°0 ¥6°990°L YNI-v
00°0 ov‘szl 0v‘Gzl V6 V617 00°0 00°2.S 00°2.S ¥6°990°L 00°0 ¥6°990°L sjsodw|| %0
00°0 ov'szi ov‘szi v6‘v6v 00°0 00°Z.S 00°2.LS 76990°L 00°0 76'990°L asads any 0
00°0 00°0 00°0 00°001 00°0 00°009°C 000092 00°000°€ 00°000°€ 00°0 llgowwi eueulplo suolzusinuep - |
00°0 00°0 00°0 00°001 00°0 00°009°C 000092 00°000°€ 00°000°€ 00°0 elieulplo suoizusinuel\ [ 90
00°0 00°0 00°0 00°00% 00°0 00°009°¢C 00009°C 00°000°€ 00°000°€ 00°0 1218} 1p 1uaq Ip 0ZzI|)3N Pa 1ZIAISS 1P 0}sinboy €0
00°0 80°1.8 20°L.8 00°0 00°0 00°0 00°0 00°0 00°0 00°0 8IeM}Os & ooljeullojul sjelslel - 6
00°0 80°1.8 80°L.8 00°0 00°0 00°0 00°0 00°0 00°0 00°0 llossao0e o |[eusle\ | €0
00°0 80°L.8 80°L.8 00°0 00°0 00°0 00°0 00°0 00°0 00°0 ownsuod Ip luag 20
[ 1-y=_ ! u p-0=6 9-p=4 e P q+e=9 q e ojuoo
elielizueuly a.ebed BeAjluysp auolz11osa odi
alebed ‘lquuodsip | ep sysewn sjebed ajeubadwi auoizew suoizew
2} Ep fjseuwry nebed lerzivj enpisal (1) awwos awwos swwos welboid luoizenep weJsbold
INais3ay VZNILIdNOD 3s3dS 0901Id31y

uibed

0.gL'ue) | ‘PO

H001L80SIWY W'D 28509529526 40 92 VIVHYIAVLIOHD

RIVYY3d OZN3 FHORIAdNS ANOIZNY1SLA OLNLILSI m\

0I1Zv1 1 ¥3d FTYNOI9IY 0DILSYT0IS 0IdI44N %g
©21921Y BJJap O BJISIOAIUN,|IOP ‘@UOIZNIIS],[|op OJa)SIUI

ojuswseAuLp 8sads ¢ |V epame/onebold

GL0Z OlueIZUBUY 0IZIDJ9ST
WV1IAILLY/O113908d OLNOJIAN3Y

VIA (INY) YINOY 82100 %@f@ﬁ




00°0
00°0
00°0
00°0
00°0
00°0
00°0
00°0
00°0
00°0
00°0
00°0
00°0
[+)=1

ZLe
[e INpise

Lue

(P



